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3. 8p vlole uuwe leeslbs JJdeduws fete/sysctl.conf:

cp /etc/sysctl.conf /etc/sysctl.conf.bkup<date>

4. ez lJouwg Ilzoslbs: Bp wogssd 1Jpdd letelsysctl.conf 9l o 1Jwlb):

net.ipv4.icmp_echo_ignore_all =1



5. 8p wldogdsyd eds JIWs Idougs Idpblego J net.ipVa.icmp.
6. lpb lJogssle lJos lzyswol.

#Hdeny icmp (ping)
net.ipvd. icmp echo ign
f#gdeny icmp (ping)
#

HHnet . ipvd. icmp echo i1gn
g#net . ipvd. icmp ignore

A oIS Swpe B8 9,09J SSH |Js CSPC 9 NCCM 9 AFM g 1Jglogs 7

7. wzpsd IUpots)lo IUzrss wlgwogsle i),

sysctl -p

A O3Syl Sup bbg Idleuold oo CSPC 9 NCCM 9 AFM wes IJgbgs 8. spdu o s9e, 3J
gds gpdsle ldegpse sldogssole dpuwopsd Idos sop wbosdol po NCCM eds
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trsllzersGabriel.Nilenko *ping 10.79.245 174

Pinging 18.79.245.174 with 32 bytes of data:

Reply from 18.79.245%.174: bytes=32 timedims TTL=62
Reply from 18.79.24%.174: bytes=32 timed{imsz TTL=62
Reply from 18.7?9.24%.174% hytes=32 timedlms TIL=62
Reply from 18.79.245.174: hytez=3Z timedlms TIL=6i

Ping statistics for 18.79.245.174:

Packets: Sent 4. Received 4. Lozt B {8 lozs)
Approximate round teip times in milli-seconds:

Minimum = Bmz,. Haximum = Bmz,. Average = Bns

CivllzepressnGabriel . Milenko 2ping 18,79 .245 .14

Pinging 18.79.245.174 with 32 hytes of data:
Reguest timed out.
Reguest timed out.
Reguest timed out.
Regueszt timed out.

Ping statistics for 10.79.245.174:
Packets: Sent = 4, Received = B. Lozt = 4 {188+ loss).

v duuld 1Jigble gl odlzol
I3l Jo swp luwesh IJlousld weywele CSPC ig NCCM Ig AFM g lglé wuvésd IJeszo

CENT7_NAT. W ¥p vouwesd 1U>gsd IJs 1Jpeszo CENT7_NAT9ig_.> lJogssile oluwegsle
lJouwe IJlzoslbs po lJgbss 3.

cp /etc/sysctl.conf.bkup<date> /etc/sysctl.conf
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